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Note : Attempt all questions.

Instructions :
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Question No. 1 is objective type question. It consists of Section (A),
Section (B) and Section (C). Each section has 5 questions of 1 mark

each. Visually impaired students follow the instructions as given with

the questions.

ST A 2 § 6 T AL T T € | Tk W W 2 3 e £
(ST ST Y AU w=-F 30 V= §)

Question Nos. 2 to 6 are very short answer type questions. Each

question carries 2 marks. (Maximum word-limit of each answer is 30

words)
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Question Nos. 7 to 10 are short answer type questions. Each question

carries 3 marks. (Maximum word-limit of each answer is 50 words)

(V) T FAF 11 ¥ 14 F A T ¥ TAF W W 4 4% Sy
T (0% IR R s w75 v B

Question Nos. 11 to 14 are short answer type questions. Each question
carries 4 marks. (Maximum word-limit of each answer is 73 words)

V) W wRw 15 W& 16 qeiswl wet § | wols W W S i emife ¥
(VA% IR Ft e wz-dr 100 w2 )

Question Nos. 15 and 16 are long answer type questions. Each question
carries 5 marks, (Maximum word-limit of each answer is / 00 words)

(vi) wquﬁlszﬁaﬁﬂwm‘é‘ummmewmtl
(7% SR # afesem y=-Tm 750 w2 )

Question Nos. 17 and 18 are long answer type questions. Each question

carries 6 marks. (Maximum word-limit of each answer is 150 words)

v -1

(EUE-A) T fakew g foafiaw [1x5=5]
(Section-A) Choose and write the correct option : '
(30 1.50
(7 2.82
(/) 2.42
() 2.89
Refractive index of glass is :
(@) 150
(b) 2.82
(c) 2.42
(d) 2.89




(i)

(iif)

(v)

B

bl ettt <) eplat apedlet ekl @ 2
(a1 Nac'l () Nn,S50,
() KNO, (&) NILCl

Which of the following salls is acidic in nature?
() NaCl (h)  Na,80,
() KNO, (@ NILCl

ferefl =il 3 SR a7 ToEn A s567 W ¥ i, 453 feal, 23 99
T 7769 S W Y| 5 S e wefiTen S g

(37) =™ & g Sial o1 whinfea siaER

() Fia F wRa Feafadl 1 wfsfaa sfiavr

(%) i & W wgeil o wfinfaa stawr

(%) +aa 99 & qtHl &1 wiwied sawr

The number of organisms in a garden were cstimated as 5567
grasses, 453 shrubs, 23 trees and 7769 animals. The primary
productivity of this arca will be nearly equal to :

(a) biomass of all organisms of the garden

(b) biomass of all the plants of the garden

(¢) biomass of all the animals of the garden

(d) biomass of only all the grasses

S R :

(37) He (F) As
(#¥) Mg (D Ag
Metalloid is :

(@) He (b) As
(c) Mg (@ Ag

P.T.O.
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Fossil fuels are :

(@) coal, petroleum, natural gas

(b) biogas, wave energy, nuclear energy
(c) tidal energy, hydel-power energy

(d) wind energy, geothermal energy

(Tus-v) fom wml +1 gfd sy

(Section-B) Fill in the blanks :

() TITRE oA I TAERE GF —— T T
The chemical formula of methanoic acid is

(i) Togm o & ST AF —— AT

SI unit of electric current 1s )

g1 Efad 817 e T TATger, feftwm oik wmdsi € 1

Enzymes amylase, trypsin and lipase are secreted by :

A Al e groft § o etfifveg ¥

The position of _ - element is uncertain in periodic table.

{iii)

(iv)

(v) @m sfEe § Iearees & oreran wet < —— ¥

All organisms in the food chain are cxcept the producer.

[1x5=5]




qvR-1  (@UE-H) SfEd ¥ 9L [1x5=5]
(=) (@)
(i) RNA - (a) TREicH 3T
(if) ST EIm - (b Yew
(iif) g - (o) Fe0y
(iv) Su = SI 9= - (d) 1
(v) FreRe - (o) @
(Section-C) Match the following :
(A) (B)
(i) RNA - () Citric acid
(i) Convex mirror -~ (h) Uracil
(iify Lemon - (c) FeqOy
() SI unit of heat - () Car
(v) Magnetite - (e) Joule
UgH-2  TEd Wi TREl STEd § W] e TR YR uiatd e 5 ? (2]
How does the atomic radius change in a period of periodic table?
-3 wifeufoe 9 R wEa € 2 2]
What is called Eco-system?
uvi-4 oA wElE il § e T e o [2]
CH,COOH, C HgBr
Identify and write the functional group from the following arganic
compounds :
CH;COOH, CHyBr
WA-5 SRt ugef g 2 (2]
What is thermal insulator material?
S-6A
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What is called pollination?

BRI IAF AR eiter § <Aam o atfuehan arg @) faa R wefd
Hif | [ 3)
We:  gie afim foremedt forr & o W wiEEEe TR & Iwaw
& AR 19 &% W F IHRT Teh ITANT Fe@ar |
Draw a diagram of Fahrenheit scale thermometer by showing lowest
and highest temperature on it.

Note : Visually impaired students will write the lowest and
highest value of temperature and one use of Fahrenheit

scale thermometer in place of diagram.

wge A fei frafoon =5 wiwan feg vor @6 & 2 avesmE [3]

How does the process of sex determination take place in human?
Explain,

W, A | 1.50 AT AR Biv F O F 539 a1 L i vH
%I =l 91 I | (3]

Light enters from air to glass plate having 1.50 refractive index. Find
the speed of light in glass.

ﬁmqﬁwﬁﬁﬁf‘aﬁﬁmwé\?ﬁmﬁgm: [1x3=3]
() dreed

(i) dfyar

(i) wim

Draw the symbols of the foll?Wing components related to electric circuit :

(i) Voltmeter |

(i)) Junction wire

(iif) Resistance

S-6A
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YoH-11  WHE! § STHTET A0 o1 § 7 ISe0] Sehl T HITAT | [2+2=4]

What are dominant and recessive characters? Explain with example.

AT

OR

STIHTH I Semed F1 ¥ ? ST SH WK FHifau |
What are adaptation and fossil? Explain with example.

=12 TSR T o et A A g e s e S IeEm fafae ) [242=4]

Write the chemical name and formula of bleaching powder and any
two uses of it.

STeraT

OR

T Teigid % IUPAC T e A famem 39 =1 31 sy fafau |

Write the [IUPAC name and formula of ethyl alcohol and any two

uses of it.

Te-13 ﬁtﬁﬁmaﬁmﬁﬂﬁaﬁﬂm%ﬁwamw—mmfﬁﬁam [2+2=4]

Write the names of two vascular tissues found in plants and write one

function of each.
erar
OR
RHver R ed ¥ 2 5% @ v ftfa

What is placenta? Write its two functions.

S-6A
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Atonue number ol an clement s 11

(@ ldentify and write name of this clement.

(M) Write the group number of this clement in modern periodic table.

() Write the period of this clement in modern periodic table,

(d)  Wnrite clectronic configuration of this element,

srerar
OR

W 3§ Wi 9N faermE P, Q) R, S @) Wl g ¥ S yad pH
A 13, 7,2, 8§ U< U1 59 3R R FaiRU foF HH-91 faema—

() WA I §

(if) I E

(i) god & §

(iv) et & §

Sonakshi tested P, O, R, S four solutions from universal indicator

and found pHl values 13, 7, 2, 8 respectively. On this basis, tell about

the solution which one is—
(i) strong acid

(ii) neutral

(iif) weak alkali

(iv) strong alkali

1124 4

S-6A
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wE-15 () I & i 9 o fafe

(&) forga Wiex  fagg st o =1 @ o=x fafa [3+2=5]
(@) Write any three propertics of magnet.
(M Write any tweo differences between electric motor and electric

gencrator,

Srerar
OR

(37) Torera Suamor & qefaa swam ¥g B @ TrasfEl fafaw
(=) yeaEd am g e um & i 8 oFm fafe )

(@) Write any three safety measures while using electrical
appliances.

(b) Write any two differences between alternating current and

direct current.

UF-16  (37) Ty 0u fRY PR ¥ 2 30% wER fafen)

(F) Y91 ! BIHH 0 Bl 9T Hifeg [2+1+2=5]

(a) What is called spherical mirror? Write its types.

(6) Define focal length of mirror.

STerqr
OR

(37) TuadHiss fd FEd § ? a9 fafew)
() WIS o A i TR S|

(a) What is called refractive index? Write its formula.

(b) Define refraction of light.

P.T.O.
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We:  gie sftm faensit foer 3 o we v 3 fafa=r ot T
quis RN

(@) What are the different aspects that need to take care of, for the

health of pregnant women (any two)?

(b)) Draw a ncatand clean diagram of heart and label any four parts
of it.

Note : Visually impaired students will describe different parts of

heart in place of the diagram.

FHEYAT
OR

(&7) ofierdls 1 Jufkafa & erguftafa & € archt vagm = yhemes
T a1 W ST (FHE ) |

(F) ﬁﬁmaﬁﬁmmwﬁamawﬁwﬁwwﬁaﬁm
Hifeq |
qre: it afera foremeff fomr & v W wifiem Sl % Ry
UTT BRT =0l R |
(a) Differentiate between processes of respiration in the presence
and absencc of oxygen (any two).

(h) Draw ncat and clean diagram of nerve cell and label any four
parts of it.
Note : Visually impaired students describe the different parts of

nerve cell in place of diagram.

[2+4=6]

S-6A
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we-18 (37 M9 3y ¥ sfifirer apoif % apum w @ aren fafan

(T Hmﬁéaﬁﬁ%?ﬁwﬁm%aﬁiam fafaa)
(@) Write three differences between metal and non-metal on the
basis of physical propertics.
() What is Corrosion? Write any two methods to prevent corrosion.
Jrerar
OR

(37) @fi= a yaws o @t o fafen |

(=) gz Joft i aftsra feraa v gatfims afEa vd vs 999 &g
gieha u1g 1 M farfaa

(@) Write three differences between mineral and ore,

(b) Define Activity Scries and write the name of one most reaclive

and one lcast reactive metal.,
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